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QUESTION 1

How many arrows can connect to a partition?
A. none

B. one

C. two

D. any number

Correct Answer: A

QUESTION 2

What represents the deployment target of a deployed artifact?
A. a shared aggregation relationship

B. the location of the deployed artifact

C. the deployed artifact\\'s output data stream

D. a node instance, but never a property instance

Correct Answer: B

QUESTION 3

In the exhibit, if the incoming arrows provide three control values, how many control values are provided to the outgoing
arrow?

A4
WV

A. none
B. one
C. two

D. three
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Correct Answer: B

QUESTION 4

A component may legally participate in which relationship(s)?
A. dependencies

B. associations and generalizations

C. dependencies and generalizations

D. dependencies, associations, and generalizations

Correct Answer: D

QUESTION 5

What does a region in a state machine represent?
A. concurrent state

B. contained state machine

C. separate thread of execution

D. concurrent object owned by the context object of the state machine

E. part of a composite state or a state machine containing transitions and vertices

Correct Answer: E
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